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P P Reg. No.:

D 1010 Q.P. Code : [DE 107/DE 1 C 07]

(For the candidates admitted from 2007 onwards)
U.G. DEGREE E¥AMINATION, DECEMBER 2009.
First Year
Part IT — English
ENGLISH —1

Tithe : Three hours Maximum : 100 marks

Answer any FIVE of the following.
All questions carry equal marks.

(bx2=100)
Answer the following each in about 400 words.

1. How did Midas come to realize that the common
things in life are more valuable than riches?

2.  Critically examine the surprising end of The Face
of Judas Iscariot.

3. What approach to life does Mansfield suggest in
his Laugh and Be Merrv?



How did Portia turn the table against Shylock
after failing to appeal to him to be merciful and
reasonable?

Describe the meaning of the narrator with the girl
passenger in The Eves Are Not There.

Answer any TWO in about 200 words each.

(a)

(b)
(c)
(@

How did Lalajee show his gratitude to Jim
Corbett for his timely help?

How did Matild die?
Why had Schatz been waiting all day to die?

Why were the husband and wife worried
ahout their son in The Informer?

Answer any FOUR in about 100 words each.

(@)

(b)
(e)
“d)
(e)

(&3]

Why was Shylock particular about, Liaving
his pound of flash?

What kind of a son is Gopi?
Describe the incident of €is6 French camp.
Why was the giang.caliid the selfish giant?

Why does Wordsworth call Luey Gray a
living child?
How was Cindrella identified by the prince?
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Rew'ﬁte as directed:

.
(a)

(b)

{c)

()

(e)

()

(g}
(h)
(1)

G3)

The school team played well

(Change into negative without altering the
meaning)

The bicycle costs Rs. 500

(Frame a guledtion for which the above
statement<ean be a reply)

We---(walk) to the station when it---(begin) to
rdih (¥ill in the blanks with suitable forms of
tHo/verb given in the bracket)

He is a best friend of mine. (Correct the
sentence, if necessary)

No, she doesn’t come late regularly. (Frame a
question for which the above statement can

be a reply)

She did not work hard. She had to be pulled
out of the college. (Combine the two

sentences into one using two main clauses)
He was so tired ... (complete the sentence)
You knew that before...? (Add a question tag)

The matter... (discuss) tomorrow. (Complete
the sentence in passive voice, using the
Simple Future Tense form of the verb)

I lost sight of her but found another a little
further off. (Rewrite using Though)
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(k)
(1)
(m)
(n)
(o)

(p)

{q)

(r)

(s)

(t)

mood was noticed by’ ottars  witl
gympathy. (Change the Voice) '
We have asked some friends of her to join ui
(Change the Voice)
My teacher asked me, ‘Do you think it will
rain today? (Change into Reported Speech)

The revolt was short — lived but intense.
(Change into a complex sentence)

The government reacted sharply. (Rewrite
using the noun form of ‘react’)

He married the sultan's only sister. (Frame a
question for which the above statement can
be a reply) '

Several hotels are in the town. (Rewrite the
sentence beginning with either There or It)

I am looking for somebody...] cap-trait.
(Fill in the blanks with the missing; velitive
pronoun)

__Fact that she is... able girl.should not be
forgotten. (Fill in the hias ks with suitable
articles wherever palpasary)

I don’t believe®, \punishing children... small
things. (Fill in the blanks with suitable
prepositions)
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Reg. No.:

D 1561 'Q.P. Code : [07 DC 0V/
07 DCCA 01]

(For the candidates admitted during 2007 onwards)

B.Com./B.Com (CA) DEGREE EXAMINATION,
RECEMBER 2008.

First Year

Fart ¥1I — Commerce/Commerce with Computer
Applications

PRINCIPLES OF ACCOUNTANCY

Time : Three hours Maximum ; 100 marks
Answer any FIVE questions.
Each answer carries 20 marks.
(5 x 20 = 100)

1. What are accounting conventions? Explain them.
semadLd wryse wrees? Seuphlenen sllas@s.
2.  What do you mean by renewal of a bill? Give the
various journal entries which are recorded in the books
of the drawer and the drawee an renewal of a bill.
wrpmé Elpeer ygl@sse upd Bl Siplausl
wrg?  wmpms  flger  ygldgsd  Ggmfurer
GALCUL Quudasmar  ogluent  whpgd  Qugpert
< ECwrre gheeld sms.



- 3., The following are the ledger balances extracted

from the books of weifa.

Weifa's capital

Bank over draft

Furniture

Business Premises

Creditors

Opening stock

Debtors

Rent from tenants

Purchases 2,
Sales 3,
Return inwards

Discount (er)

Taxes and Insurance

General expenses

Salaries $ i
Commission alluw@

Carriage on purchases
Provizion for Doubtful debts
Bad debts written ofl

Rs.
50,000
8,400
5,200
40,000
26,600
44,000
36,000
2,000
20,000
01,000
5,000
i

8,000
18,000
4,400
3,600
1,000
1,600

S
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*

cz\‘\ég

Adjustments :
(a) Stock on hand on 31-12-1995 was estimated
as Rs. 40,120,

(b) Write off depreciation of business premises
Es. 600 and furniture Ra. 520,

(¢} Make a@siﬂn of 5% on debtors for bad
and doubtful de

(d) Al@ interest on capital at 5% and carry
forw @.14:10 for unexpired insurance.

Prepare Final Accounts for the year ended
.1995.
Qaniurelan  g@saladlmis  Spsrgud  GuGILE
Elmlyser erBasUuLen

.
Geuiamatlen pme 50,000
curudl Gop eusngiimo 8.400
Bt [T B 5,200
el SETEn Lt e 40,000
aLafBGgniaem 26,600
yyibu syEdmUY 44,000
&L enmataerr 36,000
@gudiplueufl b ainLeng 2,000
Qamenapsed - 220,000
RpLienen 3,01,000
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5.
e erBmiiLnn 5.000
FET@RLIE. {Eura]) 800
qufl wngn s 4,000
Qungud Sewene 8,000
FDLIEi 18.000
B DS BB 4,400
Qanengpser gmen smell 3,600
aupTEsL_sse pash[ 1.000
cumaas_sotae GumbblnipiUiLic L g 1,600

gflgsl (s

*
(1) 31121995 engy enauflcs aysdlimin gb. 4(}11@0
Gl

erdlrLTTESILLL & *
(mp) efwimiing seTeunt ihisen MDD a@éﬂ
Bgren  Geiwremb gy 600 Dol . 520

Cura@sqgsiiul Lg.

(@) eugm wHHD shGHas @h‘m-mnﬂﬂﬁm Ba)
5% qasdH Jels, $ .

(m)  apse Bsran s 5% siguodés Gogin (peit
GegusHiu smuSH ap. 1,400.

31121995 e (pal @nds seandgsaa
guinfilée.
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4. A partner has with drawn the following sums of
money during the half year ending 30.6.04.
Jan 15 Rs. 300

Feb 18 Rs. 250
Mar 10 Rs. 150

26 Rs 200
Ir20 Rs, 400
OO ay 16 Rs. 300

Junz 18 Rs. 500

* .
@t ig to be charged at 8% p.a. Find out the
e

due date and celeulate the amount of interest to
\ bited to the partner.

*
68 30.6.04 sienqurean [ wpigu iy sl nefl Spssmemih

Qgnenssaner eTBHsmi.
weneufl 15 gy 300

Ggesfl 18 gy 250
wiia 10 ap. 150
mnmd 26 gy 200
Gripe 20 gy, 400
(i 16 . S00
ught 18 ap. 500
apan@renmise 8% ey sensdLLUBADS.
syefl seuement Brever sadd(Hs wHHD ligd GErasen
semsdl @ sl Lrafl sewradla LDHGEDIpEHS.
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5. ‘C' of Kolkata consigns goods to ‘B’ of Mumbai for
sale at invoice price or over. '‘B' is entitled of a
commission of 10% on invoice price and 30% on any
surplus price realised. ‘B’ accepted a bill of exchange
drawn by ‘C’' amounting to 80% of the invoice price.

During the year 1999, goods consigned by ‘C’ were
invoiced at Rs. 90,000, such goods cost ‘C' Rs. 60,000.
Sales mde by ‘B’ were Rs, 81,000 and goods in his hands
on 31.12.1999, remaining unsold represented an invoice,
value of Rs. 21,000, ‘B' remitted a sight draft for the
amount due after deducting his commission and
Proportionate advance applicable to goods sold.

Show the necessary accounts in the books of the
congignor,

sosgpreigiema  'C apoaLgister ‘B 65
sri@amen ellpugpETean @uniyellenar (1) SIS0 Gined

S@u® Gaigri. ‘B aeieui G@niy efene i
s1@ wppb eufluilen Bg 0% sue Qup = Meniody@loy
@Bumiy  dfew By 80%  Gaiesie 'C* 0
orpped g pe B’ Gl pe selibsni _ \

@,.c. 90,000- g8 he

1999 wmpegey, C  spbesama
Sguli@  Geogn. .ﬁl'lﬂunr%w’ = dsellens

m. 60,000 zéereny ‘B’ J00-s8me  elimpni
31.12.1999 myeinpy  efipan mlnGlen @iy eileney
m. 21,000 sy@n. Cer@ulCeudiqu QarensuRedlom b
sfley whmb sTéE el cflflgngany apeh Liamih Cung
Bfls Qprensa@ B wipmé S sweligsnn

Sglyent  glheald  Gpenand
snemEs.

6 S (i S GT 6l
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6. Das and Krishnan entered into a Joint venture
sharing profit and losses as 3:2. They opened a Bank Alc
by depositing Rs. 40,000 each.

Das purchased 800 kg. of an item @ Rs. 60 per kg.
and his expenses were Rs. 13,000. Krishnan purchased
a second item of 10,000 kg. @ Rs. 2.10 per kg. and his

expenses were Rs. 000. Expenses were met from
private sources urchases were paid from bank
account. < ;E
Kri old 600 kg. of the first item @ Rs. 100
: selling expenses were Rs. 5,600, Das sold
» of the second item @ Rs. 5 per kg. and his

expenses were Ra. 6,000. All the sale proceeds

*

per

from private sources.

8
‘.l
E @ e deposited in Bank Account and expenses were met
.

Write up necessary accounts in the books of the
venture. Also prepare a Balance sheet of the venture.

snav  wppib  Egneigench  Geamenellaantia  Gaipal
priusergl oL plLksma 52 oadlp eSflsbd A Sgs
Qararflenpeni, geuGauraaimmh g oy 40,00056m5 eutidls
sansdenar Qem_ridl Qarenaullensn Glegsdeni.

800 £.4. earer g Gunmemer g ACan @. 60 eignd
ey Qandrpsd Quedigni. Cogid saumoLw Bewaisa
ay. 13,000 gy, Slgpeigamien sranLiaun whG o Gummener
G HCwr . 2.10 afign 10,000 AGan euntdlenmi. Guogid
el Qeossar gy 11,000 s Gewaysd
smenggh  Gerhs  HHuG0  Cleeeil DL e Wb th
Gandrapsdad aubidls seamadledloy by Go@ippriic. e
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fmegenren qpgd Gurgrenear s &leon g5 100 aig
600 ACarm efpmrm whHmbD eurs elibusard Qaweysen
. 5,500! gmev whGlorg Gungenan gy HGan gy 5 asib
8000 dlGen eflpmm woHmn weurg eflbuemed Cewe|sd
. 6.000 e, swnengy ellfusnansg Cgienas@pn eurkdls
samsdld) Geguaaiin g woph Hswejad seneaggin
Qerhs Hldufellmbe Glogigsnn. i g

sflwriing g BHsafley Caameuwine semd@Eaman i (pgis
eflwruny gRaatle Gy Hlavawd @bl b sunnfléa.

7.  On 31st December 1994, the bank column of the
cash book of samatha showed a credit balance of
Rs. 47,240. On examination of cash book and a bank
gtatement. for period, you find that :

book not-sent to bank for collection Rs. 4,960.

.
(a) | Cheque received and recorded in the casl_:o

. (b) A cheque of Rs. 1,400 paid into
Nov. 1994 had been debited by the b

Diec. 1994, \,

() Cheques issued amount @d 70,080 in
Dec, 1994 had been entered i ash book as to
Rs. 69,000. These cheques ol presented at the
bank for payment until J 995.

(d) Interest of Rs. 3,520 charged by the bank
was not recorded in the cash book.

(e} Payments side of the cash book had been
under cast by Ra. 400,

r 1n
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i

(f),. Rs. 17,960 was entered in the cash book as
paid into the bank on 31st Dec. 1994 but not credited by
the bank until the following day. !

(g) Payment received from a customer direct by
the bank Rs. 10,920 but no entry was made in the cash
book.

Prep reconciliation statement as on
31st Dec. 19 B@e making necessary correction in

cash book.

*

Ui 1994 b e swgrellen Cyrés gl
Ausden Ly auge) Gy @ 47.240 @0
adfler Qurés g whpb eukd i L aumemdiamar
Widlenm Gungy Bellit srarig). '

() &5 4,960 wdlyeen srGemena GLpg Gq!rm
glued ufle GQaipy pord abwdsy wWGRSES
axgpiuli sflsenay.

() peutbud 19946 @ 1,4G9 whliLdrer  Gm
anConene auiidlilss Gegidsliul( SDig SEDNE gFbUT
1994 & eurudlufenred LiDD eTOPSLILILL.BI.

(@) webui  199%4& . 70.080 i yeman
snCaresdr Geaeflfie sefsstulL g pand AFrés
glud ep 69,000 e ufle Gaiwuuuclg. Ebs
snGenemadn aiflula Gegipsdsesaans geeufl 1995
cueny swrlssliuL ek,

(m) el 5. 3,520 anduflennds Gemey srpptiul@
Qyrés erige uwdilisildana. '
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(2) Qurés glne Qsgubmsdadn Lbsbd g 400
GODBEGHES!

(osm) 31 wabui 1994 b prefed . 17,960 Qurés
glige eumfuild CegusHugns Leurdl Bumbsg. e
S ssHreT eueny aurudlulleamea auye| madslio ebldame

(er) em. 10920 Gsiemsenus @h Mg SmEw
Gprigwrs Qerensufane Clegubdlenmi. gpened Qynés 6ilige
uBeuraeddranes.

Qurés gl g Fosdan Geig Gng 31 gebur
1994 b prafley eumidl sflad Gib Ll guismea guinfids,

The following is the receipts and payment account

B,
elub for the year ended

of Kandan Recreation
31st March 2002.

Receipts Its. Payments

To Balance b/d T.000 By salaries

To subscriptions : By Gene&o
2000-2001 5,000 Exp% 6,000
2001-2002 20,000 Jléctricity 4,000
2002-2003 4,000 : v Books

To Rent for use of purchased 10,000
conference room 14,000 By Periodicals

To Receipts from purchased 8,000

28,000 By loan repaid 20,000
2,000 By Balance ¢/d 4,000
80,000

D 1561

entertainment facilities

To Sales of old magazines

80,000

10

\‘\\6

SO

*

<&

Additional data :

(a) The club has 50 members, each paying
Rs. 500 p.a as subscription.

(b) Subscriptions outstanding on 31.3.2002
Rs. 6,000. @

(¢) Salarleslolitstanding Rs. 2,000. Salaries paid

include Rs. 6,000 for 2000-01.
. .

n 1.4.2001, the club’s properties were :
Rs. 2,00,000, Furniture and fittings Rs. 20,000

poks Rs. 20,000,

(e) Provide 10% Depreciation on building and

furniture.

Prepare Income and Expenditure Account for
the year ending 31.3.2002 and Balance sheet on that

date.
31, writé 2002-b e (B apigll @b Shsen wenndlp

wearpsan  Quppdsd ppih  Cegibgisisd  sansE
SlemmeugnLomg.
Gupgeesit m o CrgsgiEdad .

iy £1GEn 7,000 ebenn 28,000
[l 611 Gl gd Beaa st 6,000
2000-2001 5,000 ihlgiagin 4,000
2001-2002 20,000 s e anmdiings 10,000
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WL aaT o nn Gognpgipens
2002-2003 4,000 29,000 1w Blapash
A ETILIE 00D R TEAITEE B,000
e LBundlEagndamer e 14,000 s ene Fomii
Quirpgg Gurée aedlBa Gegisduig 20,000
sumuilers Gupimdisd 28,000 00| &1 4,000
L @D s s oilhng 2,000
50,000 80,000

sn(pge eflauymsa :

(=) @wepgda 50 ompinfenisd o deran
geuGeaummaumid e Gl nehmide oh. 200 apgns G ginands
Glogysgdlenmeni.

(mp) 3112200210 moalle spsnd Ggnes Hageal

em. 6.000 @b,
(@) sbue Hayeres @ 2,000 2000-01-gsn

a5 6.000, sbuend Cegsuide Gorbgerag).
() 142001 e BEBEANE
Qengmbsarg efleuymaa .

sliglib @ 200,000 ﬂg G pmith
Qunpsggasar gy 20,000 wpoib L . 20,000
(p-) &ligLid OOD Bgnen Gauinomenid
10% ema@ms.
31.3.2002-1b et apigul augneumil Geavetiond:
semsPeoa sunflés Gognd cpsnelid @iy Haews
@fliSemen gwinflss
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D 527 Q.P. Code : [07 DC 02]
(For the candidates admitted from 2007 onwards)
B.Com. DEGREE EXAMINATION, DECEMBER 2010.
First Year
Part III — Commerce

BUSINESS ORGANIZATION AND OFFICE
MANAGEMENT

Time : Three hours Maximum : 100 marks

Answer any FIVE questions.

Each questions carries 20 marks.
{6 % 20% 100}

1. Define business. Discuss briefl¥” tha" scope of
business.
cwemflad  eeqump, ewelabdd  amrdudimaeni
F(HEFDME slieumdl.

2, - Explain the meaning of debenture. Discuss its
types.
gLen  UgSigfler  Cummellenan eflaréEs.  igen
cuengEenar elleumgl.

What is meant by optimum size of the firm? List
out its advantages.

e g Himeusn sierey aranugen QUnEmET Wrg? Sigen
peTeninEena UL g well (s,

What do you mean by ‘Indexing'? Discuss its types.

&L sgmdl erenm d) \senen ? e cuenssamean efleumdl.

Briefly exnlain the functions and significance of an
offite.

snicessia  uaeflaar  wHpL  PEESHQIEME
HHESONE edleTsEs.

What are office equipments? State its merits and
demerits.

SIS D USTENTAEST WTameu? Bladn  peneniose
whHnh Senosamand s ms.

What do you mean by stock exchange? Explain its
functions.

ukigé sheng upd Bellt sufleug wrg? Sigew
ueaflsamen eflara@s.

What is trade association? Distinguish it from
chamber of commerce.

aerllEs srish eempra eanan? Sigenen eurenflus
sasdadlmbs Capudsss

2 D 527
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Reg. No. :
D 528 Q.P. Code : [07 DC 03]

(For the candidates admitted from 2007 onwards)

B.Com. DEGREE %@ATIUN. DECEMBER 2010.
O First Year i

&@* k Commerce
\(\ art 1[I — BUSINESS ECONOMICS

e : Three hours Maximum ; 100 marks

] 6@’"
0\ Answer any FIVE questions.

All questions carry equal marks.

g (5 x 20 = 100)
OGA

1.  What is Business Economics? Explain the scope of
Business Economics.

auresfly  Qummefwe  eramug  wirgE? auneflug
Qurmeflwellan euerr@udeameew dlarsEs.

2. Who is Business Economist? What are his role and
responsibilities?

aurerflu  Gummellwadleyr eraruet  wmr? SHEUTE
ukiE wHmhd durmlusdr wrg ?



How does a consumer attain equilibrium through
indifference curves? Explain diagrammatically.

#nCETEE aumaCarpaar apad g meTGaum slilig

suflena seLBpnr ? aumruLssLer ellardEs.

Discuss in detail the methods of demand

forecasting.

Cgereu  pemsefildpsrer ppenpsaner  ellflauns
eflaundlés.

Explain the nature of short run and leng run

average cost curve. *
G wppn bare sre &g‘rr&ﬁl Glean @m

Qusenus efilenags.

1 ‘
Point out the char st;cs of perfect
competition. Distingui from pure competition.

fleomayls Curmiguiar Quaysaoas &lgds s (s
iganen gnu Gur’guidmps Canu®sgs.

2 D528
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What is Pricing? State and explain the methods of
pPricing.

eflenaudlé eemug wrg ? sflenaflallenr (penpasner
bl eflardes.

Define natmné e. Describe the methods of
i

measuring ncome.

&Lﬂmﬁmﬁ asnqum, Gsflw eumurangens
@mﬁmmnm epenpaener ellaudl.

3 D 528
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Reg. No. :
|
| D 529 Q.P. Code : [07 DC 04/
07 DCCA 03]
h (For the candidates admitted from 2007 onwards)
(! B.Com./B.Com. ; REE EXAMINATION,
MBER 2010.

‘ . @ +  Second Year . _
. — Commerce/Commerce with Computer
Applications

. 68 FINANCIAL ACCOUNTING
I Time : Three hours Maximum : 100 marks
| Answer any FIVE questions.

Each question carries 20 marks,
(6 x 20 = 100)
1.  What is depreciation? Explain its causes.
Gguionamb  erénpnéd  ereen? Sipen  smefisenar
dhlendEa.

2.  What is single entry system? What are the salient
features of it?

gheopl  ufle] pep eI eTeNEn?  SigEn
SpuSlweyser wrenau?




A firm purchases a 5 years lease for Ra. 80,000 on
1* January. It decides to write off depreciation on
the annuity method. Presuming the rate of
interest to be 5% per annum. The annuity tables
show that a sum of Rs, 18,478, should be written
off every vear, show the lease account for five
years. Calculations are to be made to the nearest

rupee.

1, meraufl enp 5 Jewhsas GsmEamL GO
fpeuend g 80,000-5@ arbidug. serfidsras
weopufen & CGawwrend  GurélsygeuCgen
apiq QeuBgsent, wyerQLrdnpse el eizn 5% een
parlis. o grRstenans Sl L_aenemtufieniig
ga@arm e Ggres @m. 18,478
CGura@susiuL  Caarfn, @mbs HpSrHEgE
Ghgwss sonsms sramiss. mumler el
w9 semél tiu Caar(Hi.

On 1.1.2005 Rama Collieries Ltg\Jesded a piece
of land agreeing to pay & ieif)ifium rent of
Rs. 2,000 in the first year, ®4 4,000 in the second
year and thereafter Re, € 000 per annum merging
into a royalty of 40 f#ide"per tonne, with power to
recoup short wotkifigs over the first three years
only.

The figures of annual output for the four years to
31 December 2008 were 1,000, 10,000, 18,000
and 20,000 tonnes reapectively. Record these
tranaactions in the ledger of the company.

D 528

L&)

1.1.2006 sienp pron sgis Apod em Sewd
floges @iposss oBiE pond gH@TGD
a5 2,000, Gperimb sgamge m. 4,000, sigening
pardureniipng . 6.000 srer giyé GararaniiniLgl.
G Leaflean efleawsbsras 40 aust SuEL. (P
apeny gpamBaafidngon epusflewu Blughsren
SFaEmyh o ereng

31 ysbuf 2008 qpgu edTeT EUENE SpemHEETH
aumLaidr epusd wepGu 1,000, 10,000, 18,000
20,000 Lensar @i, Bipiol GuGniye @fs
B Senssener ufle Qs

The position of a businessman who keeps his
books on single entry was as under on 31.12.2007
and 31.12.2008.

2007 2008
Cash in hand 400 480
Cash at bank 6,000 2,500
Stock 6,500 5,000
Debtors 4,000 5,200
Furniture 300 3560
Sundry Creditors 4,100 3,100

He withdraws Rs. 7,500 from business on
2.1.2008, out of which he spent Rs. 5,200 for
purchase of a motor trucks for the business.

3 D 529



Adjustments :

(a) Depreciation c;n closing balance of furniture
and truck at 10%.

(k) Write off Rs. 220 as bad debts.

(¢) 5% provision for bad and doubtful debts is
needed.

Find out the profit or loas for the year 2008.
ghepuudeiien &p olsmer e GO
eflwmurfulen Hever 31.12.2007 wpgnd 31.12.2008
=jenp QarBastu_[Derers.

2007 2008
5. .
ensulléy Gyrésh 400 480
auiidufier Ayrésn 6,000 2,600
sr&muy 6,500 5,008
SLermenseT 4,000 0,200
BN DEEEHT Jae 450
upue sLaibGsrin 4,200 3,100

2.1.2008 ey efwrurysfel(mbg . 7,500 er@ouns

THEEUUILL G, siFdsrensulled {5 5,200
eflwnunyednE o CLrILTT ey amrbGasDE
Qe it g
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SM&SL g :

(=) Bpd Boly ompseoer whHph g ssTen
Casomemb 10% @b

(=) m. 220 eugnéaLdnsar CunabsipaiulLg)

(@) euprssen ~opmibd #5Csss sL_enaer Sgmen
aasER 1 CemaliuBing.
2008 g panen  @rub () pLLsEs

ST S (B4
6. \The balance sheet of Padma and Renuka on
31% Dec. 2008 is set out below :

They share profit and losses in the ratio of 3 : 1.
Liabilities Rs. Agseta Rs.
Capital : Land & Buildings 30,000
Padma 40,000 Furniture 2,000
Renuka 30,000 Stock 8,000
General Reserve 20,000 Sundry Debtors 60,000
Sundry Creditors 20,000 Cash 4,000

Profit and Loss alc 6,000
1,10,000 1,10,000
They agreed to admit Kavitha into the firm
subject to the following conditions :

(a) She will be entitled to one—fourth share of
the profit. :
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286umy  Qouy  fees @iy LGy
QerRastul Pererg. @eaisdr  phsog  oru
pLLdismar 3 1 crandlp oblfgsfa AfsmeE
Qsrerflenment.
oy sar 5, Glenggisme o
pgEd : Blah whpb stwddadr v 30,000
i 40,000  slapsad 2,000
Cogmian 30,000 sradgiy 8,000
Qumgaminy 20,000 _ Qo sammefisd 60,000
upuw sLaldBsmr 20,000 NQgréshb 4,000
@y B alg 6,000

(b) She will bring in Rs. 21,000 of which
Rs. 10,000 will be treated as her share of
good will to be retained in the business.

(c) Depreciation is to be provided on furniture
@ 15%.

(d) Stock to be revalued at Rs. 6,500,

(e) 50% of the General reserve is to remain as a
provision for Bad and Doubtful debts.

Prepare ledger accounts and construct the
balance sheet of the new firm.

31 webui 2008 mrevemu ugon wHmb Crgysr

1,10,000 1,10,000

6 D 529

Spssrgns  Pupsees@selul®, fpauegde

sclilgreneu Camiutser glus Qeraran,

(=) 1/4 ulmig eonub Qupeughsfiuagrdpmr.

(<) m. 21,000 Qaremidlprs. @&a . 10,000
SHeurenL s, memodllyy ukisns eflumumyissed
oaugBaEs Couan@ib.

(@) <@psaa Bgrer Caiwremd 15% gmEdl
Catreim (i,

()™ spédlasioy wHlS L Ceudmgug m. §,500.

(e-) Qumgé smiulle 50% eaugr wpmb sHlsss

SLaEEREaTs BlhEse GeuamHin.
GUGI_Hé sars@semar gunfiéas whmb LHw
Poauengfler  Bmoy Heowé  @dlodeer
FumiEs,

P, Q and R were equal partners. R retired on

31.03.2009. The hbalance sheet of the firm on
31.12.2008 stood as follows :

Liabilities Hs. Assets Rs.

Capital a/c : Good will 25,000

P 50,000 Buildings 50,000

Q 30,000 Investment (cost) 10,000

R 30,000 5tock 12,000
Investment Fluctuation Debtors 20,000

Fund 2,000(=) provision 1,000 19,000
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Liabilities Ra. Asgsets Ha,
Contingency Reserve 6,000Cash in hand 2,000
Creditors 22 000 Cash at bank 22.000

1,40,000 1,490,000

On the date of retirement it was found that

(a)
(L)

(c)
(d)
(e)

®

Building be valued at Rs. 60,000

Investment fluctuation fund be brought to
Rs. 1,100

Debtors being all good no reserve is required
Stock to be taken at Rs. 11,000

Goodwill will be valued at 2 years @urchiase
of the average profit of the past five years

R's share of profit to the date of retirement
he calculated on the basisiof average profit of
the preceding these y=ars. The profit for the
preceding five Yeiirs were as under.

2004 : Rs. 12,000, 2005 Rs. 13,500, 2006 :

Rs. 8,000, 2007 : Rs. 10,000, 2008 : Rs. 9,000.

Pass journal entries, give partners capital alc
and the balance sheet.

8 D 529

P, Q

woptd R 8C0wnr sosiLreflsdr wpeuf,

31.3.2009 sienm R eflogdpri. 31.12.2008b prenemu
Aneuengden @miufleras ghluy £Gp o drangl.

[ TE G TWTR T T Qg kit -
T ey 25,000
P BOTRA0 Bt s 50,000
q 30,000 0ppd( (S ssdiioma) 10,000
R 30,000 sr&dmoy 12,000
apgal® ulp sLarmefiEaT 20,000
gl 2,000(-) pgisl® 1,000 19,000
erpliumicndparen anoy 6,000 medlé Grmsab 2,000
s_afpGanina 22,000 surk@uSid Qyriaid 22,000
1,40,000 1,40,000
el @deny prafich fen_sgeneuser;

(1) sligLib ¢, 60,000 eren AU LUGEDS!.

(@) ess® wipp Ff @ 11006g Osran®
QUFLILILL ).

(@) sLemeflsar eaeFHD pooTHET, &ML
Caenauufidamea.

(m) srédlplfemer @ 1,100 aer ahsmstsndrer
Ceuam{Hib.

(o) Qoenp mpgrem@saian  sgrefl  @ruiden
@reir_near[Hasmg Qararapge GTemdlD
SjigLiusoLulld memodlliSenar AL
CousTHib.
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(o) aphenswl ppenm ewREarg spradl emuSden
sipluentife  Reér erul uhg dllagdedn
Cosfleueny mawédl_ Cauan(Bib. (phensw @BS
e (hsang eomub G o drerg).

2004 : en. 12,000, 2005 . 13,500, 2006 :
@5. 8,000, 2007 : gs. 10,000, 2008 : m. 9,000.

GAUCULEL uvfesmer gms, smlLrafsang
WES samaG wpmith Gmiy Beoas gl Semer
sunfss.

8. A, B and C are partners in a firm sharing profits

and losses in the proportion of 3:3:2. Their balance
sheet on 31.2.2008 was as follows :

Liahilities Hs. Assets Ra.
Sundry Creditors 4"&,500 Bank 55,000
Partners Capital Afc: Stock 29,200
A - 75,000 Investment 5,000
B - 75,000 Debtors 70,000
C - 100,000 2,560,000 Land duaBdilding 1,25,000
Partners Current Afc: Gaedwill 25,000
A - 15,000
B - 26,000
C-12.500 52,600

3,560,000 3,560,000

10 D 529

They decided to dissolve the firm on 1.1.2009. ‘A’
reports the result of realization as follows :

Rs.

Land ard Building 90,000

Debtore

Vivestinents

Btock
Goodwill

60,000
5,500
75,500
Nil

The realization sxpenses amounted to Rs. 2,000.
Close the accounts of the firm.

aw fpaasda A, B upgid C afGuni sal L reflser
shisag aru plidiseer 3:3:2 eendlp efflgsgle
Ofsme Qaradlémpent. 31.12.2008b prenemi By

Benand gfiiy Sereumiommy.
EunpiiEeT .
s snafCarraer 47,500
Fl L maflmen apad &l
A= 75,000
B - 75,000
C— 100,000 2,560,000

s neflsafler g g s
A - 15,000

B - 25,000
C—12.500 52,500
3.50,000
11

denggikscr [

curkid 55,000
Fradmiy 69,000
pEdim 6,000
sLssmeilsd 70,000
Baoopmb, &ligugmd  1,25000
pemofiiiy 25,000

3,50,000

D 529
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D 530 Q.P. Code : [07 DC 05/

07 DCCA 04]
(For the candidates admitted from 2007 onwards)

B.Com./B.Com. (CA) DEGREE EXAMINATION,
DECEMBER 2010,

Second Year

Part I1l — Commerce/Commerce with Computer
Applications

PRINCIPLES OF MANAGEMENT MARKETING
MANAGEMENT

Time : Three hours
Answer any FIVE questions.
Each gueastion carries 20 marks@
% = 100)
Expl&in@ sevolution of
marketing concept.
Fhengudlig

. : aenyiL N bt s Ul e & (T e
auaniaflen eflars@as.

2. Discuss the various approaches to the study of

A Define marketing.

marketing.
Fhengutlene aifleu siamen L Geupy)
@i (penpaener efleurdl.

Maximum : 100 m ﬁg

5

What is product life cycle? Discuss the various

stages involved in it.
sph@eailen  umpimss  @pd)  crepmed  eTewen?
@ Bleperar L Eaum Rensoseaner ableumd.

What do vou mean by ‘Branding'? Discuss its
functions.

* *

, é@ pricing’. Explain the various methods of
Q g prices.

‘efleneouiiL e’  euenqum.  eflenaufianen  Hrewuilsgn
LaGaim apennsmeT eflars e,
Define — ‘Sales promotion’. Discuss its kinds.

‘Wiipuenen  Gobun@ UL BIFET  GUEHHHENET
alfleumd].

“Advertising is a waste”. Do you agree? Discuss.
“eflembumbh  erewuig  efewrmeng.  Beflt  @uLE
Qamer@reinr? aileumflésaid.

What is E-marketing? Explain its significance in
the modern era.

Bl igm sEensudud erenpmed eeien? pelar siragSld
Gaen pafugseuboms el e,

2 D 530



Reg. No. :
D 531 Q.P. Code:[07DC 08 ]

(For the candidates admitted from 2007 onwards)
' B.Com. DEGREE EXAMINATION, DECEMBER 2010.
Jecond Year
Fart [II — Commerce
BUSINESS STATISTICS
Tiae : Three hours Maximum ; 100 marks
Answer any FIVE questions.

Each question carries 20 marks,
(5 = 20 =100)
1. “The proper function of statistics is to enlarge
individual experience” — Explain.

“Ueatelufiwellenr £Aw uesfl eramug el pursaflen
Siggusunsener eflflayuBgeusran” dlaéss.

sampling,
Bapsse) &mAnHssada uaGeap (penpaamear silaurd.

“ 2. Discuss the various methods of pruhahilit}r'



3. Calculate mean, median and mode from the
following frequency distribution.

Variable : 10-13 13-16 16-19 19-22 22-25
Frequency : 8 15 27 b1 75
Variable : 25-28 28-31 31-34 34-37 3740
Frequency : 54 36 18 9 7

fpargpn seneblouer ureudllafimbg i asyrad,
EleoLflencw LOHID (PSigeneTs He bl (&
Wi : 10-13 13-16 16-19 19-22 22-25
BjanenEae 8 15 29 51 75
LormiL (B 25-28 28-31 31-34 34-37 37-40

<mjemeulsue: 54 36 18 9 7

4. Calculate Karl-Pearson’s coefficient of dkewn»as
for the following data :

Wage peritem Rs. 12 15 20 2580 40 50
Number of Items : 10 25 40\\J0 32 13 10
Epsragn eflugrisaficloiny) anfréd Slwirsafler Gam'
ereys Clapeilensns Somas (s,
@ @engHlen saell m. 12 156 20 25 30 40 50

Eengdlen cramentidens: 10 25 40 70 32 13 10

2 D 531

X

Find Kar]l Pearson’s ecoefficient of correlation
100, 101 102 102 100 99 97 98 G686 95
98 99 99 97 95 92 95 94 90 91

aniréd Wwresfien m_hays dayeileoas srans.
100 10y~ M2 102 100 99 97 98 96 85
98°/7%9 99 9T 96 92 95 94 90 91

Calculate the two regression equations from the
following data :
X: 10 12 13 12 16 16

Y: 40 38 43 45 37 43
Also estimate ¥ when X =20.
Bpergpd  eflurhiseldlmis  @uen@  Gpmiiy
suenun(Hsenas senddfs.

X: 10 12 13 12 16 15
Y: 40 38 43 45 37 43

X erarug) 20 erafled Y e o Senemib smeims.
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Construct index number of prices from the
following methods.

(a) Laspeyre's method
(b) Paasche’s method
(c) Bowley's method
(d) Fisher's method and

(e) Marshall - Edgeworth method.
2008 2007

Commodities Price Quantity Price Quantity
Rs. Kg Rs. Kg

(A) 4 6 2 8
(B) 6 5 5 23
(C) 5 10 4 14
(D) 2 13 2 19

Spsranin wepseiien st le elamasesssren
GHSC Q_amsamer semitelHls.

(=) enauduigpenp
(<3) ureveli gpenp
(8) Quendl gpenp

4 D 531

(FF)  Glagi (penp whmild

() writlagd e’ Heurs apenm.

2008

2007

Qurmeraer efora =ietey el  syaTey

{Th.
() ]
() 6
(@) 5
() 2

&4
6
5
10

13

{15.

2
5
+

2

4.4
8
10
14
19

Fit a straight line trend by the method of least
squares and estimate the net profit in 2010.

What is the amount of change per annum in net

profit?

Year

Net profit (Rs. crores) :

Year

Net profit (Rs. erorss) :

2002 2003 2004 2006
36 44 37

32

2006 2007 2008

71

72 109

D 531



Gophs wids gperpuliiar S em CeraGarigen

CGurédlerens Qunmggs womgn 2010&srer  fay

arusfaer samsdlHe.

Flar eorugSen guramgen Ggnens wrpgd wrg?

@y : 2002 2003 2004 2005
flag wrub (5. Gamgude@): 32 36 44 37
e : 2006 2007 2008

fleg wmub (@ Camguiia): 71 72 109

S
Q-
o
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Reg. No.:

D 532 Q.P. Code : [07 DC 07]
(For the candidates admitted from 2007 onwards)
B.Com. DEGREE EXANINATION, DECEMBER 2010.
Second Year
Part II1 — Commerce
COMMERCIAL LAW AND COMPANY LAW
Time : Three hours Maximum : 100 marks
Answer any FIVE questions.

Each question carries 20 marks.
(6 x 20 = 100)

1. What do you mean by contract? Explain its
classification.
guUbsD LDB Bell syfleug wrg? s aiamssamen
derégs.

2.  Define ‘Pledge’. What are the rights and duties of
pawnor and Pawnee?

'L auerup. SiE CGuppt LD SLE
enautiLcuilen 2 fen&dT LHDILD S_eNDEET Wreneu?



What is sale? Distinguish it from ‘Agreement to
Sell’.

eflp Lienam ETSImITED aremen 7 eflpuanengamen
o e igebmhg Caupufsss.

Define company. Explain the different types of
COMPAany.

Powd  eaerugy. Aowidedar vatampy aenssenear
efil e E .

What is articles of association? How can they be
altered? What are its legal effects?

suss Qewe peop eflflsar aenprd aaan? g
sreueurm  wrpdluewEsUUBEDST?  SFgaT sl
slanaray e Wmensu?

What is a prospectus? Discuss its contants
gaeuaflEens crenpia ereman? BEen BAT SHLSSRISDET
aflleumdl.

Discuss the powers and“luties of a director of a
company under the Company Act 1956.

Blpwé sl 1956-a1 £ em fipw Gussenfean
S dlanyiadr wHmib sLanbaaner efleund).

2 D 532

What is winding up? Discuss the various modes of
winding up.

flmiod senaly eerpme erenen? Hlmws saeliGean
uaGaup euflapenpaener sleursl.
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Reg. No. :

D 533 Q.P. Code : [07 DC 08]

(For the candidates admitted from 2007 onwards)
B.Com, DEGREE ATION, DECEMBER 2010.
C) Second Year :
‘\g‘ : Part 111 — Commerce

\0 ST AND MANAGEMENT ACCOUNTING

. &@ﬁme : Three hours Maximum : 100 marks

Answer any FIVE questions,

Each question carries 20 marks.
(5 x 20 = 100)
1.  Define Management Accounting. Discuss its scope.
‘Coanareinsd sersfud’ eauequp. Sige ebauU
efleundl.
2. Wha't ig cash budget? How is it prepared?

Qrréss Hllid  eaprd Temen? By ereuaTy
gurflasiu@spg?



3 The following information relate to commodity ‘A
for the half vear ending 31* December 2008.

Ra. Ras.
Purchases of Stock (31 Dec. 2008)
raw materials 1,20,000 raw materials 22,240
Works overhead 48,000 Finished Products
Direct wages 1,00,000 (2,000 tons) 32,000
Carriage on Work in progress
" purchases 1440 (1% July 2008) 4,800
Stock (1% July, 2008) Work in progress
raw materials 20,000  (31* Dec. 2008) 16,0090
Finished products Sale of finished
{1,000 tons) 16,000 products ag0000

Selling and distribution overheads\arc He. 1 per
ton sold, 16,000 tons of compodity “Were produced

during the period.

You are to ascertain

(a) Costofra® inacerials used

(b) Cost of output for the period

(¢) Costof sales

(d) Net profit for the period and

(e) Net profit per ton of the commodity.

2 D 533

31 gabul Aplgw edar SenquraTed Qurgar ‘A’-er
eflugriser £Gy QanGésuuc Heraren.

il @
oG ey apaGlLrgmar
Qanarapge 1,20,000 esvadlamiy
wenfl Guogdilsaay 000 (31, wabuir 2008) 22,240
Crpia.b sl : L.00,000 ppgeydp Qurmstsdr
Qandrapsd smighg (2,000 Lensan) 32,000
gnémmme 1,440 apipeypmd Gummerssr |
el E e syddmiy (1. mPea 2008) 4,800
1, Srslenar 2008) 20,000 apweypmt Qummerser
Pgeydp Buimimesds {31, mambLiit 2008) 16,000
(1,000 Lensan) 16,000 apwedp Qurmersaicn

stlpLiene 3,00,000

gm Len aflpugpsmer efpueer wpph efafGurs
Gupdsaa) m. 1. Bésrwsddo 16,000 Ldnser Qummer
2 Huss Qe L g.

Fefli searadl Ceuadmywig) :

(1) epatGunmearsdler euGLuns SiL_ssilaea

(=2p) @ésragdlen 2 pusdufen i sseflena

(@) eop Qurmelier si_dsadlaw

(F) QEsnagdlen flaramun

(2) @@ Lan Qurmeiean flar @erul.
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on 1 i ﬁpr‘ll 2009 was \ :
- 2009 giger 5 Qavappsd 100 siwmsdr gy .20 fgib

e following purchases |
|

The stock of a material a8
200 units at Rs. 9 each. Th
and issues Were made subsequently. Prepare
Stores Ledger Account showing how the value of | a0 it e R

the issues would be recorded under 2 odips 150 i@

10 @sréigpgsr 150 seomadt m. 2.40 ez

(a) FIFOand il 100 sewgse
() LIFO methods. k= 100 wagadr
2009 April 5 purchases 100 units at Rs. 2.20 each SR
10 purchases 150 units at Bs. 2.40 each é

20 purchases 180 units at Rs. 2. 50 each n = iﬂ?ﬂzﬁnﬁ;riziiﬁt:Bpar;I:E]:stLZf::;

2 Issues in a factory :
7  Issues ' M.a#ermla used — Rs. 72,000
12 Jlssues Direct wages —  Rs. 60,000
5 fagues 6* Hours of Machine Operation & 90,000
Q@W @iy 200 Labours hours worked ; g 24,000

gured 1, 2009-1b ;ﬁnmmu.i
SiGEET @ 2 eipd
whpd e

Eﬁm@ilﬂ QuipgeEeT Overheads chargeable to the department — HRs. 48,000

E@jggﬁmam penL QLD On One order carried out in the department

during the period, the relevant data were :.

SyefBgelen :
() FIFO opmid Materials used — Rs. 4,000
=T
) — Labour hours - 1,650
() LIFO apenpaefied GreueU N -
srcm9asiLOSDGEeISDETET LI EFaTEne) irect Wages — Rs. 3,300
GUCT. (& sanslaen sunfiEs. Machine hours — 1,200
D 533
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ent of cost of this

1 atem
Prepare a comparative st three methods of

order by using the following
recovery of overheads :

(a) Direct labour hour rate method

(b) Direct labour cost method

(¢) Machine hour rate method. ks -
fm QgmPpareraudie Ghgs aragHe pUSHS

eluyriseTTe

popdar  pambmssa  EGP
Qan(Rasiiu [Herers - . 72,000
“Qurgser e LCLTAGSE! E T
::Gl;:ﬁ mg - 60,000
o 20,000
;rfﬁﬂ!]‘ﬁ Lt GE D e,
o gt weflser el GEE  — G
— g, 008
H D&ES Guopbsaa) ﬁ@}ﬂ W bz,

BasrasHd Qégopudd Gy @swduLGHer
el aurhiGanTTeuen |

; — ,000
@mi.l@ L.ill{[ﬁiiwiﬁt g G ElEEs a5, 4
- 1,660
p_enjpuily Lnemtla e Wi
: - 53
Cpiigs smell
= 1,200
by weladr | |
CuwpBeeasener ifremmufl 10 Bpestgnd e

: e
apenp&ener e uBUrdlEs @0 si_saailemer gUULH
oL auenaeni SflEs.
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(1) Cmmg sl wenfl Cor apenp
(i) Coig sned BiLdsallona apenm
(8) erpdly wefl Gor apenm.

From the followting balance sheet of Ganesh

company Ltdy Prepare a funds flow statement for
the yearendel 31" March 2009.

Balance Sheet as on 31" March.

Liaailities 2007-08 200509 Assets 200708 200809

Rs. Ra. Ras. Rs.

Share capital 2,00,000 250,000 Goodwill 70,000 50,000
Debentures 60,000 1,560,000 Machinery 3,10,000 440,000
General Investments: 30,000 80,000

reEserve 70,000 1,20,000 Discounton
Profit & Issue of

Loss afe 50,000 60,000 Debeatures 5,000 —
Depreciation 90,000 1,320,000 Bank 20,000 30,000
Creditors 75,000 1,10,000 Debtors 70.000 1,80,000
Bank Stock 40,000 55,000

overdraft 10,000 15000

545,000 B,35,000 5,45,000 8,35,000

During the year investments costing Rs. 30,000
were sold for Rs. 27,000, A new machine was
bought for Rs. 40,000 and the payment was made
in fully paid shareas.
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|
| 7. The expenses for budgeted production of 10,000

sCemey cequp  Bmwfer Spssrgud @GV units in a factery are furnished below :

Heowi GAUIBHS, 31 LT 2009-ib e ( P Particulars PezI-{T;Init

o drar f8 pLiomiL SifiGeamul pumiiss. Materials ' 76
Quapiysdr  2007-08 2008-00 Qenpgésd 2007-08 200809 Labour 95
® ©. & o Variable ove¢leads - 20

LhEesd  2,00,000 2,560,000 panofiy 70,000 50,000 FixP:d ovirhbads (Rs. ‘l,ﬂﬂ,ﬂﬂw‘.}} 10

sdiubfvh 50,000 150000 wpf> 5 10,000 4,40,000 "f"?ﬂlﬂ“ expenses (Direct) 5

Qurgsmoy 70,000 1,20,000 @eaes® 30,000 80,000 "Jl_" Mg Expennts (10% fixed) 13

i B Distribution expenses (20% fixed) | 7

S B Administrative expenses (Rs. 50,000) 5
o o Total cost of sales per unit ~ 186

Lup e 90,000 1,30,000 FATIERLG, 5,000 ‘
Gpliom You are required to prepare a budget for the

: wakiGaidd 76,000 1,10,000 curiifl 20,000 \, 30,000 D i iction of B 00D irte:
& P o 8 . _
el i\ i am Qamfinsraauiae epusd Gealw edrer 10,000
Cudicienill EII&':ﬁL'I:h' 4“’,““0 EE,DDD | &W@Eﬂﬁﬁh ﬁ W Gmﬂ.{sﬂ"‘ g{:m
L 10,000 15,000 Qarpésiiul Gearare.
545,000 8,35 -.,:n;‘ Eaia,uuu 8,35,000 eflLyhiseT gir SI0G
] W _'_.. \ @I
L LILTETg e T 30,000 siLsmeblensouarer appes s apeLQummearaar 70
. 27.000-580@ ApsuulLg. GO L _sr;-'mﬁmh D_mg_:uq o5
. 40,000-58p@ OuPLULH SIHHSTE AppeuEID wimth Guop@eaia) s 20
QrayssliuLL LkGEeT QegpsllCLg. flemes Grop@eavay (. 1,00,000) 10
WEE i Geweyser (Garig.) 5
9 D 533
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eflugriser G G
.
eflpuenand Geaeysear (10% Benawirang) 13
efleflGuinss Qeavaysar (20% flenenwimeng;)
flireunss Qeaayser (m. 50,000) b
g Sder eflpueer silens SiLGslD 155

8,000 me@sEnés vpusdssrer FC L Qurdadleaer

el gwnflas.

Assuming that the cost structure and selling
prices remain the same in periods I and II find

out :

(a) Profit volume ratio

(b) Break even point for sales

(c) Profit when sales are of Rs. 1,00,000

(d) Sales required to earn a prefitia! ‘Ra, 20,000
and

(e) Safety margin in pesicdL
Period Sales Cost

hs. Rs.
I 1,20,000 1,11,000
11 1,40,000 1,27,000

10 D 533

e 1 wppib I sfweupfled =és ienoliy
whmb eflpusnen eflenaser GGr Hlaauila Bmuusrs
Wil G, senrddl(His.

() wisefliy eflflgn

(=) BerupSonn ofihuemen

(@) efldtmest @, 1,00,000 srafle Gamuisbsreas

(7] /)p° 20,000 erub mlRasps Cseaurer
dipuenans Qgmens
() @rewmmb sregfdr urgmaiul ugH
amath  efliuenear éﬂu’s&ﬁﬂmm
- -
I 1,20,000 1,11,000
I 1,490,000 1,27,000
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Answer any FIVE questions.
fﬁ R Eﬂ lﬂﬁ}

Each question carneﬂ 20 marks.

‘State the conditions and es for the issue
of redeemable preference shares. '
gy ansngniflentols Lk Hen e
QeaualdPeugi@ean e Fupseensdr b
fiepapasars Qg




A Lid. invited applications for 10,000 shares of
Rs. 100 each at a discount of 5% payable as
follows :

Bs. 25
On allotment Rs. 34
On first and final call Rs. 36

On application

Applications were received for 9,000 shares and all
these were accepted. All moneys due were received
except the first and final call on 100 shares which
were forfeited. Of the forfeited shares, 50 shares
were reissued at the rate of Rs. 90 as fully paid
show necessary journal entries in the books of the
company.

5. 100

. whlieter  geiGlaungy  wkiensh s
el gdlibg Al 10,000 udigseear Qauafl &

DIEET el ReReT RGN ; \9
efleimemiiLisden (s 25%

GalEE e B

apger mipd Emd ien =§@ 36

000 Lk e en L me aﬁ'lmmmurmaseﬂ Gumiul§
sienaGADED GuUsD Sefldstiu’ g, apsd wHmb
Bmdl s@pldhe 100 ungsdr gefly e
Hlaenauh Geméenauyd Quprind L g, Sieneu NG SILD

2 D 534

\6"’

Liflapged  Gledmato o

. 90 apapeugib
Gegubsiugrs on@auaflE Geinwdul g, fpw
udlaymenerd

G'IEu'JuJLur'_l_@.

Lflpse
ukigsafld 50

AT e
ghsaiids  Gaereuwmen  EALGUCHU
EmeTL .

S Litd, iss Qﬂehemums for Ra. 12,00,000 an
1.4,2(](](@1.'&3 provided in the debenture trust
that the debentures are repayable on

2010 with a premium of 10%. A sinking fund

0 as set up to provide cash for the redemption on

the due date. The amounts set aside annually are
to be invested in 5% government bonds. Sinking
fund tables show that 0.31720856 at 5% compound
interest in 3 years will become Re. 1.

You are required to write the ledger accounts for
all the 3 years in the companys books.
calculations may be made to the nearest rupee,

1.4.2007  menm Sl 6%
Geuafiuill g 31.3.2010 wam saugfyiseer 10%
apenaninggicn Sipds sr Ceuamm@BEwear sLamigdy
apesanih@ld) eugsiu’ Bereng aGGaEuslh Henibhn
Cumeugne Crréss Cagnggb eenslida By B
eumLaph  GuEs
Qauwdiule Ggras 5% eirs usflyisald apsdE
o Gousim{in, By B8 i’ L suena Ly g 1
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5% e el ipelfsin 3 e (Hasiend 0 Ape Embd

ClumeuseE seublems amapb 0.31720856 Clegnis Dot Credit
Cava (i, Balance Balance
Slpwisden haafe apemy e Gmgsém Comeauwre Wallsan-sxesrs TR
CuGr' @ semégoeaa  falli  erugsab, R L i | Premises 3,00,000
s : N |
wd e sanide Geudr{Hin. Plant and machi@ 3,30,000
A Ltd was registered with an authorised capital of " Interim di 99,250
Rs, 6,1.:!{],{]'{]{]. in e.quil;y shares of Rs. 10 each. The g ®¢ 415,000
following is its trial balance on 31 March 2010, tA\
e . (1.4.2009) 75,000
Trial Balance of ‘A’ Litd ‘
= i . @\ urniture and fixtures 7,200
Debit Credit .
Balance Balance \ Sundry debtors 87,200

Rs, Rs g Wages 84,865
Goodwill 25,000 06* General expenses 6,835

i I'reight and carriage 13,115
|

Cash 75 \

Bank : 9[% Salaries 14,500

Purchases ﬁ:}u Director's lees 5,725

Preliminary expenses 5,000 - Bad debts 2,110

Share capital = 4,00,000 Debenture interest paid 18,000

12% debentures 3,00,000 RBills payable 37,000
P and L Afe (er) 26.250) Sundry creditors 40,000

4 D 534
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Debit Credit

Balance Balance
General reserve 25,000
Provision for bad debts 3,500

12,46,750 12,46,750

Prepare profit and loss account, profit and loss
appropriation Afe balance sheet in proper form
after making the following adjustments :

(a) Depreciation plant and machinery by 15%
(b)  Write off Rs. 500 from preliminary expenses

ic)  Provide for 6 months interest on debenturego

(d) Leave bad and doubtful debtz provi
5% on sundry debtors. 0

(e) Provide for income tax at 5 %%
*
(f)  Stock on 31.3.2010 L 95,000.

Adill Udley CQeiwie Ny sisar eibds et
apga 5. 6,00,000 @b, soukhigsda @ 10 afsib. 31
wrng 2010 wenenmw £Gip 2 drer @umliys Congenen
ClamHaEsiul [Herars,.

6 D 534

Acllgv G miing Camgenen
u'njg_u
@iy
(1.
sl Ly ® 25,000
Glpr&sin O 750
%\A@ 39,900
ééﬂ@ﬁﬁ'ﬂ 1,85,000
g dad Deaesdr 5,000
LA (Lp e =
12% s_srugfysisar
amu B &) (eurey)
<BenLpLIL Hlgieneu 7,600
GUETITER 4T 3,00,000
Cumfl whmidh erpimb 3,30,000
ElenL_&smay LIRISTSTLID 39,250
silmL anes
aradimoy (1.4.2009) 75,000
B|ENMEEEN OHmID 7,200

Qe
By
&%

4,00,000
3,00,000
26,250

4,15,000
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Gl Limimh gl ma s e

LifiLie &l et e

gnsll

g Gesoa)ser
SUEHTIGFEELD DT Faedl
S1DLIEMD

@ ey a) S LewTih
ST B GG

s BT ey Qe

GQegudsisneiiu wrhmEd G :

L ek Csniser
Qg smdy

. QUL 6l CEEAL T

LD
@iy

87,000
84,865
6,835
13,115
14,500
5,725
2,110
18,000

$‘

el

Blmay

\\)@i%

25,000
4,500

@ 12.46,750

12,46,7560

e Bl &f @, ey Bl eaEED &/ @ wpmib Emony
Elenes @illy < fuepflaer afwrer  Ligeubdld
Eipargmb sfls_ Redaensel Dng swimmissa)i.

8
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66

{r)

\’(\®J

Gumdl wigb erpdrsHer Bg 15% Cadinrend

blar_ds Geosysdr g 500 CurdGsapsdiul
Gauatr(himn

aLen - usdy Bgrem euily 6 wrohsEES
PnAL AT

L '@mmﬂa}m
SUPTBRLTIE LDmmID
CRAEES

suimlonen aufll 50% &6 s
31.3.201 Ogin syddlgsiy gm. 95,000.

e poesh 5%
S5 HELaNEER S

From the following information calculate the value
of goodwill on the basis of 3 years purchase of
super profit ;

(a)

(b)

(c)

(d)

(e)

Average capital employed in the business is
Rs. 20,00,000

Rate of interest expected from capital having
regard to the risk involved is 10%

Net trading profits of the firm for the past
three years were Rs.3,50,400; Rs. 2,80,300
and 3,10,100

Fair remuneration to the partners for their
service is He. 48,000 per annum

Sundry assets of the firm are Rs. 23,50,400
and current liabilities are 95,110.
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N -

Spsrgmin cilugtisafidlmin 3 sar@aas Waswi
Carenapse =iy iuenufléy pe ofllius G‘Ig;rrﬁumﬂammé

wemT A .

(=) ellwrumsda  smedl  apsé  Qegisfus)
¢m. 20,00,000

(=) pgedlablimmg sTTCmT @D T
Gl irsgnasneng) 10% syeih

(@) supp ey enfsos Hoeegden g
euamile emub g5 3,50,400, . 2,680,300 whmih
5,10,100 spEib

(/)  premghsren SO raflsens Sbuh BBLEETS
Coenaudbans . 48,000 @@t

()

bBlypesensdlen Livew Gerggsssd m. »ﬁ%

wppd  FAmeensdlan  BLOUE G i

. 95,110 sy @i 6\'
to a limited

The following particu.ls.r@ute

company which h otle  into
liquidation. You @ guired to prepare the
liquidator’s  final “account allowing for

remuneration @ 3% on the amount realised and’

voluntary
his

21% on the amount paid to the unsecured

creditors.

10 D 534

*

30

Share capital issued :

5,000 preference shares of Rs. 100 each (fully paid)
30,000 equity shares of Re, 10 each fully paid
12,000 equity shares of Rs. 10 each, Rs. 8 paid up.

Agset realized 9,244,000 excluding amount
realised by securities held by the secured
crditors, 6

G

VoY Y
rwﬁx al creditors 24,000
ecured creditors 8,601,094
ecured creditors (security realised
Fs. 1,62,000) 1,38,000
Debentures having a floating charge on
the assets 3,00.000

Expenses of liquidation amounted to Rz, 9,000

A call of Rs. 2 per share on the partly paid equity
shares was duly paid except in case of one
shareholders owning 1,200 shares.

genedlFansimen  SenaFEasliuC L cuenpwm  Hpinsden
eilugiusear &Gy Ganfasiul Hetarar, ssmalurenys
Emfls semaflonen felln gwrflés. whmpbd Gsmans

agdlgsdla 3% smflub  wpgn  Geemup
sLalBEEaMTHEnSE Geqsdliu Coreamsudd 21 % symib.
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LIk apse Qeuefludll g .
5,000 apsmgnflanie Lkigaedr m. 100 efisb (pupeugib

The following information is extracted from the
books of a Drum company on June 30, 2009. On
which date a winding up order was made :

ey ddlug:) Rs.
30,000 swuni@gsd gh. 10 eisb qpppeugb Q'ﬁ‘ﬁﬂﬁﬁguﬂ Equity share capital, 80,000 shares of .
. . Rs. 10 each § 8,00,000
: : ir'eg. 10 boom. 8 Gl h .
$2,200 mow I Eiig a5 10 410 . 5 SegSELIG 10% prefe are capital 12,000
Lardgdad agarang m 9.24,000, Gfa Genewms shares o 0 each 12,00,000
sLaibGanisdr eflpp Senemnuiisdr Qsranss selly > S B B equity shares
2.aren Ggmenswimeng : &uated to produce Ha. 8,000) 16,000
5. e\ % first mortgage debentures, secured
apargniianio s alEGamisdr 94000 ¢ 6 by a floating charge on the whole of the _
0\ assets of the company 8,00,000
il L Cammimd 51,09 ,
epami b s-elbGpnied: L Q Creditors fully secured (value of shares
Wenammiu a1 efhGariadr (Sanermb éﬁ in X Ltd Rs. 1,60,000) 1,400,000
el ablEsg . 1,62,000) Creditors partly secured (value of
Ganggisaer bummen Slig Uy sl er Lgdinb %\t 00,000 shares in Y Ltd 80,000) 1,60,000
& s § . Preferential creditors 30,000
GULIL}E FALI T e : L.
il 4 & - Bank overdrafl, secured by a second
GE LRIGSTIT anaudsen ™ 200 Lk emé @ e et charge on the whole of the assets of the
g ukdlbe ap 2 el oemereuanyd sefly erensmu company 80,000
Qgransuionar  U@GH  Qegigsiuce  gpogasie - Unsecured creditors 10,40,000
CogipaliucL g Estimated liability on bill discounted 40,000
Cash in hand 8,100
_ 13 D 534
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Rs.
Book debts :
GGood 1,560,000
Doubtful (estimated to produce 40%) 30,000
Bad debts 18 000
Stock in trade (estimated to produce
Rs. 2,38,700) 2 B8.000
I'reehold land and buildings (estimated
to produce Rs. 7,82,000) 6,660,000
Plant and machinery (estimated to
produce Rs. 2,12,000) 3,00.000 ¢

Furniture and fixtures (estimated to

produce Rs. 30,000) : a@

Prepare a statement of affairs

{a} asregards creditors and \0

{b} as regards contributories ‘%

30 gfem 2009 memmy gy ahaafledmbs &b

arggh eflLigiiser o (b an spmrafla semanling
Sy enen sjeflEmi

{5,
soLkE apss 80000 LkEed g, 10 aign 8,00,000

10% apengniflenin Likigapgea 12000
it ser g, 100 ez . 12.00,000

14 1D 534

snutigse (Baran siampli Hlaemeu
{eurGeusimaqu Ggmens ﬂ@r’runﬁﬂu@ .
8,000)

Bliwddlen senandg) Gmgs Gact Blig iy
G enemersgBlemy (WEEenLn L LDITel

L& ug,ﬁ r;rm@
S ;I_',I'IQI (P(LpERILONT S
mﬂTgf (Rl e Lt matien

ity s 1.60.000)

\ngﬁl lenemmiu & e b Camiradr (Yedl el

Liri@satien wiiy m. 30,000}
(pengnitlentn a;t..ea'ﬁﬁ@;ssrrr’ra;ﬁh

AmogHen siemensg Qembidbser G i
Eyenriraug) Glig LiLjenmen curisl
Glodheuenll LHmis s Tens

Wenemuomm &L el esnTeer

T HmEFC 6 el Ll L dl erdliGnmbgn
uimmiy

asllay Ayndsh

(3 T 1

[REDEDEEL

s#hCsngglneEfiuame (sdiummEglh terans
40%)

16

I

16,000

8,00,000

1,40,000

1,60,000
30,000

80,000

10,40,000
40,000

8,100

1,50,000
30,000
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.
SIS Giteseir 18,000
cusnflgi #mi!@uq {ezrgir’ruwm@m Clgmana _
@ 2,38,700) 2,88,000

.Gﬁ}ﬂ}m:‘ﬁuﬂﬂmr@ ;Ewm s
! 6,60,000

<D EDEEHT mg}ym Qummssisamdr
(erdliriinid @ Qﬁﬂ'@ﬂ-ﬁ . 30,000)
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Reg. No. :

D 535 Q.P. Code: [07 DC 10]
(For the candidates admitted from 2007 onwards)
B.Com. DEGREE E@JMIUN. DECEMBER 2010,

OO Third Year
6 Part 11 — Commerce

PRINCIPLES OF MANAGEMENT

bam( Three hours Maximum : 100 marks

Answer any FIVE questions.

(6= 20 =100}
1. Explain the principles of seientific management.
sflellusaEni GuarmesmenwouSlen Glamamenssanen

ghilendims.
2. What is decision making? Discuss the steps
involved in decision making.

(g GleuEsa  erang  wng? aptg GanB g sablan
g Flenamensr allcundlss.



What is decentratlisation? Distinguish it from
delegation. How to malke delegation effective.

UgsusnE@GSea  eremug  wrgl?  guliuens ellelimba)
LreunE@ama GeunuBEgs. GluemLameal sy
dlmembléasrs@euml?

Discuss in detail the control process.

sefuun() gpenp Ehlde eilfiars eileurdlss.
Describe the sources of recruitment. Explain their
relative merits and drawbacks.

LIeat WD T s el Tl En T afflaufldis,
MSMEUSEHEIL L BENEnOAHT bk GenpEeanan

ailem &R . A
Examine the critically Maslow's nﬁ-&1 Q{:h}r

theory of motivation. : 6

@ueney  auflensd,

wirgvlieonellen  Gawgnisin  Lg

Gam_unCan Smemiiey @l

What 1s leadership? Deseribe the functions of

leadership.

saaemnddnen iUz wWig? seemws  Epells
Lenflsenar ellau]

2 D 535

O

. 68\

Are leaders born or made? Present YOUT VIews,

SR el TR ET

Smefiwifaenn?

<Syebenl

L (HeUrEELILHEDTIEETT? L.08) KHEEESMmT B,
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Reg. No. : .

D 536 Q.P. Code : [07 DC 11]

(FFor the candidates admitted from 2007 enwards)
B.Com., DEGREE E@NATIGN, DECEMBER 2010.

OO Third Year

N Part 11T — Commerce

6 BUSINESS COMMUNICATION

E @u e : Three hours Maximum : 100 marks
0\ Answer any FIVE guestions.

(5% 20 =100}
What 15 Business Communication? Discuss its
importance.

aumeils  gaeud Gl aerum  wWIH?  iEen
pa&flinggiensans shleundlds.

b3

Explain the lavout of business letter.
alewfled siasden Siemolimu el s,

3. Write a letter for supply for required goods on
credit.

sLgnibg  Glummlsmer e e EDEMET g HLD
cpemlenem ar(lpais,



A eustomer who bought a TV set from you recently
has returned to you complaining that the set does
not give him satisfactory service, Write to him

appropriate reply.

B0 QT G it FLBLIE Sl umrieEliL
Gerenawsamfl  Culy Amldluddnaiiama  aeanm
yanflen  Gufld Amind Car@agerant.  ieumés
Gummgsinner Ugld garenn Tupgis.

Eixplain the style and mechanies of report writing.

Sifldes  rapsludeasharer LTk (_Lpe;nm rr%
dilzgems eliandws. 6

S

As a manager of Exe Bank, writ a latier to the

customer about overdrawin munt with out

arrangement, $

erdall eumidl Guarem erenm penpulld 'ﬁijrru*é;maau.irrmﬂ?
sansflfE Cwdaeriubn  THs  odleon e
Briiuens Lnd &g ET(LPEI,

2 D 536

Draft an application for the post of clerk in an
organisation.

g Boeeagfld ausst uselssrer  ellemen i

Wlanit GiLimflss.

What is publi ch? Explain the characteristics

of a gﬂﬂd p@ peech,

&u&& eemmnel  eremem?  mpebew  (Glumgl
mEmen Sjhetisener el s
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Reg: No: s
D 537 Q.P. Code : [07 DC 12]
(For the candidates admitted from 2007 onwards)
B.Com. DEGREE EXAMINATION, DECEMEBER 2010.
Third Year
Part 11l — Commerce
= AUDITING

Time : Three hours Maximum ; 100 marks

(5 x 20 = 14@0

Each question carries 20 marks.

Answer any FIVE questions.

1. What is auditing? Explain its adwv
drawbacks. g
sartdensudliLic eremugl Wimg? EaTenLO&ET WHmLh
@menmaanen efleand@s.

2. Classify audit. Differentiate commercial audit
from Government audit.

sefldmamyl aepsliLBsgns aaflss safllsosau
=iy & santlsanaulelmha CaupuBiEsis.

Define Internal check. Explain its merits and
drawbacks.

2iaf Gorgeneneanll GUenLIL. |G ;ﬁmmm&-m wiimiLn
GanmEener el e s,

transactions.

Explain the pr&ma as to vouching of cash
Eyrés rl{;l_@ﬂ?ﬂi%ﬁﬁi} asmrefl s sefisans L

Eﬁ}mdﬁ%
* *
E. I@a the verification and valuation of different

Q%

s of assets.
LJ@J{;&IQJ Glsrgmsmenand mﬂurrrrgng@;um S B saiib
upil eflaurdlés,
Narrate the rights of an auditor of a company.,
flming senflamewrerfier o fawamer eflafls0supmes.

Define Audit Report. Discuss ils contents.
SenflSena sflEenseni GUEH L. =B 58T
2 drer_gamumener elairdlis,

How is investigation approached? Explain the
types of investigation.

Levemmmiiey| eTedeump SiggslUBEmaE?  Laarmileile
sUEnEEEET eflenEFE. -
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Reg. No. :

D 538 Q.P. Code : [07 DC 13]

(For the candidates admitted from 2007 onwards)
B.Com. DEGREE EXAMINATION, DECEMBER 2010.
Third Year
Part I11 — Commerce
BANKING LAW AND PRACTICE

Time : Three hours Maximum : 100 marks

Answer any FIVE questions,

Each question carries 20 marks.
(5 2N SP1ED)
1. Write an elaborate note on thé.provisions of
Banking Regulation Act, 1949
akflul  @UBREGLUESHL  slii,  1948-an
enrsgssemen efifleurs g,
2. Explain the wvarious credit control measures of
RBL
i m-an vabapy sLean sl GUuTl( apenpsener
eflend g s.

Discuss the special types of customer to a banker.
eurlglumasren Apliy aung Senswrarisaflan cumssamar
elleundlas.

What is crossing? Explain the types of crossing.
EMell .  eremus N\ung? SRl cummEsener
Eﬂma’;{g&.

Discuss the statutory protection available to a
payingand collecting bankers. A
umelsEn  wopw  degugs  adfuisEnss
Sen_ddlemp s ires urgsmienu silaundss.

Define Bank pass book. Discuss the effect of wrong
entries in a bank pass book.

aiidl sendE USssd werun. aRdisensgl
Lssssdles geauprer vfeayseflan  efleereysear
eileundlés.

What is mortgage? Explain the types of mortgage
with suitable illustration.

SHENLLOTELD eTemlEl Wrgl? enL onangdlen cuenasanar
s@hs dlargssCan(® lardms.

Discuss the position of surety.

Slenasmurerflen flenaeni efleundas.
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